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lv semester B.com. Examination, August/september 2023
(NEP Scheme)
COMMERCE

4,2 : Cost Accounting

Time : 2Yz Hours Max. Marks : 60

lnstruction : Answer should be written in English or Kannada onty.

SECTION - A

Answer any six sub-questions. Each sub-question carries 2 marks.

1. a) state three advantages of cost accounting to management.

(6x2=12)

b) What are the constituents of prime cost ?.

c) What is Material Requisition Note (MRN) ?

d) What is idle time ? Mention two reasons.

e) Define overhead.

f) State any two reasons for reconciliation.

g) What do you mean by a cost centre ?

h) Calculate EOQ, from the following :

Annua! consumption 12000 units, cost per unit
order, inventory carrying charges 24o/".

T 1, ordering cost t 12 per.

SECTION _ B

Answer any three queqtions. Each question carries 4 marks. (3x4=12)

2. M/s Disha Ltd., furnishes the following data, prepare cost sheet showing a cost
per unit and profit for the period. ;

Raw-materials consumed T 40,000
Direct wages < 24,000
Machine hours worked T 4,000
Machine hour rate T 2
Office overhead 10/" ol factory cost
Selling overhead T 1.50 per unit
Units produced 2,000, units sold 1,800 at t 50 each
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10. The firm has three production deparlment A, B and C and two service
departments X and Y. The following figures are extracted from the books of
the firm.
Depreciation { 4,000
lndirect wages { 600
Lighting < 240
Power T 600
Rent < 2,000
Others { 4,000
Other particulars :

Floor space (sq. feet)
Direct wages (T)

Light points
H.P. of the machines
Value of machinery (<)

Working hours

A
400
900
20
75

12,000
3113

B
500
600
30
30

'16,000

2014

cxY
600 400 100
900 900 700
40 2A 10
25 10

20,000 1,000 1,000
2033

The expenses of service departments X and Y are to be allocated as follows :

ABCXY
20% 3A% 40% 1 000

40% 20% 20% 20oio

You are requested to distribute the service departrnent expenses to the
production department (A, B and C)and calculate hourly rate of each production
department.

11. From the following figures, prepare a reconciliation statement and determine
financial profit :

66,760
5,700
4,250
3,660
3,950

450
600
z5u
420
860

1,200
260

I

x
Y

Net profit as per costing books
Factory overhead unil-er-recovered in costing
Administration overhead recovered in excess
Depreciation charged in financial books
Depreciation recovered in costing
Interest received but not included in costing
Income tax provided in financial books
Bank interest credited in financial books
Stores adjustment (credited in financial books)
Depreciation of stock charged in financial accounts
Dividends appropriated in financial accounts
Loss due to theft and pilferage provided only in financial books
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1 a) i;.e:.*3#;lt#tr;3ffi1#,llilIun* (6x2-12)

b) Bda;a dU; *osrr*r. .dnddt z o l

c) dQ.)d asoeo$ EJds (MRN) codded.: ?o] oru* rabo$ .rca&d: ? ;dc: adrarlgab pn.rpipone

?] 
*'u-qoQ, q,;;tr.r.. o vuvni&ixr'

f) ie cmrt:t -..
e) ;q.r,.n.?I-= edeadeib weJ-e$&'

h) -,.)g-j 1r u;rs mg, (EOa) dq dod;&Gc):o 
:CdFde_ ugd 1 2OOO al.:,ailtrrlS;, ?,,cdJ C:.d{T 12 4a sded, -e; dro&d *qro.[.e'Y 

dz*t 1, erdeddda ilDe$d

o$Eda-Jddro ab./a& ;i d z?oqx nr.Ja 
oepd - er

z. M/s oryo o. *il3JffiIU"* Bs Ed.ri 4 erodrtsc 
( 3x4_12)

fqo u%;q u*".-. '^.,c'r:o r'"d^^beo, de ol,roer, dqab$ *Fdq doeoxbd*aq *rgiv: T 40,000
ded ded.J T 24,000
o$o$d rlou3 de.:d T 4,OOO
o$og d rtouj dd T 2

::': *:qB 1o%d CIarrd des;_,,r,-u3e5 d.:ed6alT 1.S0 E.g *t[em:::_:is_+ wo3ije,,oo, irr"a* c>ooos 1,goo Ee o,,,o&eio T so.3, = :==:d $D&eo}:od cnm&el5:=_:r)o : _ a$cb erded aboj , ,lo* n$qnb* Bo?io c)os

1: =;:5 dCnea _ 1500 c)ro&o,frtgJi:rc 
=;:5 aeade _ 4 - 6 _ii*

15:r, 
=ri 

_ q,oo *."il"ig.
^;:.)v,:..a ;9= 

=Jii_ gOO Olm&O^:6flgJdi{ e..l$d Dcd_ _ 250 cre&o^frl9c.
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4.tuoderadde#deotrd{eo$aCro-de,edsCg3as3*d)dCJEotu'
opaod ledrg nag dd -'9'3 o$l""'egt'd i:ed ro$

addo 2 4oo oilop[,f7ts) 2'00

zgddo 10 600 o1ro&ufrlgc 2'40

rddo 1 5

ssddo 18 500 o1rro&t'fd$)

6ddo 20

2.60

500 oirD&ttril$r

400 o1:oCIttrdd)

5. aA)Fd dbaat^u oodded>? dra)rd deaaudl dadr d>dw drldrdodFerod

gdrd$d1 t3$rn.

6. de.:Broddt aaddo-200 o1)ro&e;6rl9dtr wao,Oioqd' 45 rlou3rl$ aodo aodd dedd

aadg < 81. 1 o1)o&a,f e,Do:c"JoBe)) Joe1a;,*o1) 15 etu-"art$)' qdq dgegDts

oio ead odr a o$ o- 20% dd* ;a1$ en n d. Lu", d e'rd rn de ri €, e d o u3ri n oqndd ododl

1) aaeJ., o:oeagd (SOy" deaori')bQ 2) dJoedo' oSoezsdo$ 4od dodrb6ou:o'

AaPil - ,x

o3n{enddJo &ra& ird4rlgri ercdo:r' 4,,e -'9d*ri 12 s:5il9:'

7 . 6aDrd otu[,365dd& 2021 do-erod,{ doJDodoJJ l oooo -'4rn^ldderi €s dsnd

dDbgo$dl udnxrd.

d4r1$) t 45,000

deddoe) t 30,000

adrrd drdl wdserf df!d$ { 6,000

ddoed doO t 7,500
h\

aaaord d,rotrrl$J < 2,750

doedoJr:{ de,rnddl BodalDd dqt 1 ,500

d-ode, deddrlsr drdl erded dzfl'l$' < 16,750

d>ooe^l eDa3.:rrl$r T 2,750

qotfd odeo, &drdd d,dl iddq { 5,250

4e o1)oee,trd e*s dnoot^ld ?,Jej t 31.60 ri dnoot^ia"nQ d,4 ae4,oSrooufrls)

dnooulaanqd.

I

(3x12=36)

I
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-'s' j.-- r:--- , ? : - -' -.^,vir- :_iv :ri.e.v itdai 10 dod dqfu, fuddGizJetaRcb

a) .{-=*: 2021 coc: eed dxbdd d4dq dr.g obneorri doeoBzJeaofld &d)
b) u:-;.) =,*dre eng2OZ2 C>dzJesd.

15000 ofioeotrirgdl weo,aBenrbsd d:d: erde ddrdo_dnoJudDRd) aoanrdol:
dred;{ rlst ded deddd upadd abeej dqieo $e *nie^ia dqF*b ?sxa dq.d
d>ed uqradddl dndennd.

f. ie*ecf ddBcf andoJ:d:

1 de rddo
Sde rijCo
1 Oie trijCo

20iie xdCo

2de rddO

Taie addo
'12de z;ddo

28de esddo

i) FtFo

ii) LIFO ddEol:cd do.i.DO:,
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cPiaoqi :- -/-v\J9qJO L.Jcr^JUelJ
J

$0eO

$oeo

$OeO

&ead
6 ^a-9N((^9O

^^aJN(G96

A ^a-9

200 d;od:d$r @

100 d:od:iJst @

150 d:od:il$b @

180 $odtilsc @

150 d:od:rl$:

100 dlod,:rlSc

100 d:odi.ls1:

200 dlod:rl$.:

Eer2
d,.g T 2.20

€,e t 2.40

d,e T 2.50

f. i) eruQdl deddd aadgob eiid,drls: olDdd ?
ii) d$rnd eddrlgod_Ele arr&db"d addd I ilouirls doa)rd dqd oaso$dro dodno$ :

a) d:oe;dedd t 2 €,e AdEo

b) e% ddd 25 4,d de EEogDoo,trri 1 oo sedd dq , doa)rd dirrdo iozdrod,
6t'9d dedd daf doalrod 600 erodrtsc.

c) dd dedd 10% d a) ar:d; b)
d) deq eeri wdorerlaadd drodri go/o d,+ b + c.
e) oox, a&ri wdoreilaadd dod>ri 2.So/oa + b + c.
0 d,g Sorleri den t 20 c$a&o$ pdo$rrf$ dzfl
g) 25 addsb I rrossris uoc$ Borrso_dernd add; noar.
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10. iodo1, s en:%doa awDrrirgdl A, B, c ildi ao-a *-- aqrDil x ilQ y oQao8 a *. dsnd ?r o6 er odzi-r& ib{J' ja H#. i dro ddrio$ en n d.$dde t 4,OOO {
ddoed dedd T 600
droso# < 240
dl 1600
zmarl { 2,000
.qdd ( 4,000
.add addrts: :

de.:d eorl (z3dd era)

{,drfldedd (t)
eJru,s6 aaouoe,trrl$o
datr..b. o$o$rlst>

$:odg edddeoriqr apel, (T)
dsBd Ba$od)

cx
600 400
900 900
40 20
25 10

20,000 1,000
2033

A
400
900
20
75

12,000
31 13

B
500
600
30
30

16,000
2014

x

20%

x
Y

BC
30/" 40o/"

20/o 20/o

Y

10o/o

deaa .asE&Jo$ dqf,qq wolCoa aqrrilE. adoBe.D d:g {,e wqdoa qena8olr
rtot3o$ ddd$4 e3do aadel aSo.aiennd.

,.| 
;:S*Xff3:.rrteod 

dd)*o$ deedod:d1dolDox, d)e uerd cneide

I

deao 'aenp3rls x d3re y dt.flrlgdtr * dgndod dozsd dnds3ed,: :

A

2OY"

40/o

dqd dddrtsj dad e{s eng
d?*de} a$drddoJ:end roao rdoJ: d: ee${flg:
esded dred;^|fl*b dQdo o3:D n Cedoa&Jobd
dearoxb dddrlsO_ ddde eedeDnd
dqdO_ ddde a$ dJddo$ en n d
rBdS* 

ecbd.do$ en A d erdd dafdO_ deoBeD n %y*oJ, dodobab4 deoaaio dddrtsd aJntennd
dearoxd ddddgO_zoro6" rrqo$q xm *>aenrtA*
eroila dooenrdd ( deaaoxi: dfi aneO_ Be$ d)

{eaaaxir 
*9oC%&eBeDd xa*aEd ddde -

d earoxi: amdrlg O_ en g:a oddali O rt aaaiero R d
deocD:rd d)dditgO_ dJDg cnaDenAd,:d dgrddaod d{

{
66,760

5,700
4,250
3,660
3,950

450
600
230
420
860

1,200

zao
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Y
100
700
10

1,000


